QORI AR (FBREY) xIsx

#B& | LR st iz *E*i/ i
W oiE //\x;!g/ EHA4 FRITEY SHMTEEMER
1 WHEBEOHRE
REHBH [2A B B B FE & B )
#E H @ EG x & {EB m & TOHmDEYD m B
H 300 LAR(EBRITEY) 130 LAXR(EREY) 100
1 LAX(FEEY) 70
R ERY 40
" i KiE(B&E) 150
(OBHEER) JKFE () 100
1 =] m i 1 2 3 4 5 6 7 10 1 12
+ LAX (FEBRIFEY) 130a — ]| e)
i
F I
A
&
%
M (O B A TiE [ InE
2 FREH
BENEH BT £ #
THhEH, FIA JKE 220afEh m i 2N, TS5/
FHiEhF A BRFEH2A HiEAE Ethit
M - SR i ch B HE
HEOFIL |BREH. ANTEHE. BREE
BR5E A& JAH T




QOIEERIL AR (F£BAEY) xlsx

3 #\EINY (10a47-Y) _ fEH: LER fER: EHIFEY -
18 B & Z g 4 K B (7)) AR #® 0 F H
(A HIRE 715879 X (7) A IRt & Ei FEIN 7 A BRot & Ei pEDVE
EEE 11,137/ X (h) 10 0 3 840 196 164,879
AR & 75,766 % () 11 0 4 0
EEE 26,306[ 5% () 12 0 5 0
E | B (BLhhEE 677715 & (T) 1 1,120 296 331,883 6 0
HMHE 80,152[& % (#) 2 840 261 219.117] &t 2.800 256 715,879
NNEEE 0 NEHEZ &Em | & = [ Em| = & ES
x| B |E¥EE 0 E3 2t 1.0 [ 7,000 7,000
s |EWiEEE 989| & 1B{MIE D 1% E [ftounns 20kg 100 | 2,236 22,360
i |KEHE 11,577| B EHE D5% YUSALEK  20ke 6.0 886 5,316
# | & (B BbEEX 3,687 SUBMNLUAR1T] 20kg 100 2716 27,160
([ KEHKE 34,532 FURS v T 5067 20ke 20| 3515 7,030
& | XBiED 0 (RIE7S/F R 20k 0.3]| 6,966 2,090
2 |(B) [ WaEs 250,923 F [BEELEGEHEVIS) ioke 23| 2,138 2811
EREREE S 0 it 75,766
& [FEHRoE 3937 | BEEEREN. S & 0.55% (MEE % = | Bl | = & B =
E |8 |FIR 2,3496,300/3/10a X 220a X (E18210/590a) BEH 16,243
B ([HEZEFHN 0 F A 9,944
5 | HEEME 62,9085 % (%) (OIIZES] 0
Z EE 38,220 | T B # + 5418 (136.5F /10kg) EEH 119
BRSEFHH 78,747 [MIBFEHFE . JAFHHE (AD11% it 26,306
ERFE () BZEZ B & | Bl | & %2 CEE
ZDH 41371 |[BEED1% AV (kL) 19.5 145 2,834
(C) BEEF 441,455 " |8 (JwykIL) 19.3 123 2,379
O #& 274,424] (A) —(C) Febiged 1,564 BREE D 30 %
T & = IB[DEA Be (JwkIL) 0
8 AT E 5 EhFF RN 183.3 KT8 (JwkJL) 0
E (kwh) 0
H it 6,777
FHEEZ B & | Bl | & 2 5
)L A(20070) 35 194 1,358 | {3 4 3 5 4
NHETILFE 6] 3,435 20,610 (=3
EEma 35| 590 4,130 5 &
H | THBAUREEH) 14,250 0|3/ 10ar2 058 2 &F
roRILEHE 850 177 15,045 10 &
EROIN 3] 1,103 827 4 5
o RILEZIL 6] 17,476 34,952 3 F
i 850 38 3,230 10 &
B L&t 80,152
hEE % & [ BEM] £ % S
1 1] 11,137 11,137|35%% X 200%i
YAIE'N 500081 7,955M
E 11,137
(D HFREH B & | Bl | & %2 S
FAUR—ILEE 280 110 30,800|221E /cs
BEI L 4] 9,070 32,108]73cs/%&
it 62,908




QOIERILAX (FBEY) xlsx

4 YEX7-H) RV (10af2l) EH: LAR {ER: FBFEY
1 2 | 3 | 4 5 | 6 7 8 | 9 | 10 | 11 | 12 | &t
1 % Fl E T [ FIET [ FIETHR T F[ETHF T F[ETHA]TFIE & FTIETHR[F]IETHR]FT[ETRTFT[ET T F[ETHE]TF[ETH]TF]
(I — 1 O- N
[ ] 0 A
BEER 3.0 05 05 4.0
3 1.0 05[] 05 1.9
it 30 10] 05 10[ 05 5.9
KEE 07] 07] 07 07] 03] 03 03] 03 4.0
AEER 01] 01 o1 o1l o1 o1 o1 01 0.4
6 AR B3 01 01 o1 01 01 01 0.3
g 01] 01 01 01 0.4
EEEER 08] 08 08 09] 05 05 05] 04 5.
FiE 05] 15 0.6 0.6 3.2
BESL-RILTF 03] 07 0.3 0.3 1.6
JE AR 02] 06 0.2 0.2 1.2
ZIBEFEE 10 28 1.1 11 6.0
EHE 03 16 0.3 0.3 2.3
EK 03] 16| 12] 03] 03] 03 3.8
FHBR 08] 08 08 09 0.1 3.4
FERE 05] 05 05 15
BHR 0.0
WETE 05 05 05[] 05 05[ 05[] 05[ 05[ 05 301007 10[ 05 190
BEER 05 05 05[] 05 05] 05] 05| 05] 05 05| 40] 20 13| 47111 ] 15] 05 30.0
e 40 40 40[ 30 30| 30| 30] 30 30 30.0
e 120 120120 90 90| 90| 90| 90 90 90.0
i H - B 03] 03] 03] 03 03] 03| 03] 03] 03 2.3
[ A 31T 15 15[ 15 15[ 15] 15[ 15[ 15[ 20 14.0
IR T 16.3 [ 17.8 1 17.8 [ 138138138138 13.8 [ 138 2.0 00/ 00] 00 00 00[ 0.0 00 00 1363
& Al &t 16.8 | 18.3 | 183 [ 143 | 143 [ 143|143 [ 143 143 20| 00 00| 00 00| 00| 00| 00 00| 00 00 00| 00 00 00| 00| 30 18| 23] 51 53| 36 18 63| 115 15| 05
H = 533 4238 4238 2.0 0.0 0.0 0.0 0.0 438 12.7 11.7 135 183.3
HiEFOBES




QOTEERL 2R (FBHEY) xlsx

5 BEEEAREHEIBEENE EB: LAZR {ERY.  FEHIFEY

mOEm | mR-ms | R OB | mlmE | smew | SR aBmE Ry sEeE

@ @ © @ | & | @ | TT@ gu) | OT9@

E£15 (BiamE) |35 90 |m 5,400,000 [10/590[a] 1.69 91,525 31 2,952

2 [B&E/N\9X INAT 100 [m 250,000 [10/340[a] 2.94 7,353 10 735
)|
i
5’
LAY
E

N F 5,650,000 98,878 3,687

rSHE— 26ps 1]& 2,700,000 |10/590[a] 1.69 45,763 7 6,538

e SIS 6.3ps 1]& 250,000 [10/340[a] 2.94 7,353 7 1,050

W [ERETEE  |2.3ps 11& 300,000 [10/340[a] 2.94 8,824 7 1,261

NE 4.7ps 1[& 290,000 [10/590[a] 1.69 4915 7 702

25 [LARE 1|& 1,850,000 |10/300[a] 3.33 61,667 7 8,810

B [8&r5vy 660cc 1[& 800,000 [10/590[a] 1.69 13,559 4 3,390

TILFr— 13ps 1]& 1,820,000 [10/270[a] 3.70 67,407 7 9,630

¥ AE 2 54 R 11& 750,000 [10/340[a] 2.94 22,059 7 3,151

RER SR 1[& 800,000 0 0.00 0 7 0

FER e AKHER 1[& 720,000 0 0.00 0 7 0

AN 25 MY 1[& 2,120,000 0 0.00 0 7 0

N Ft 12,400,000 231,547 34,532
X
)
}E
Y|

N F 0 0 0

a8 _§ 18,050,000 330,425 38,219




